SMILE

fawg — rforg
Dh&T—12
(Paper 5)
1
1w AR A=[1 2 B]HQJTB:[Z]Fﬁ(AB)' A B | 1)
3
20 AR 2/ qATi" + 27 & HEI BT BT S BITT | (1)

- -5 > - - - - - > - >

H

3v aﬁa,b,cwvﬁmwwﬁﬁsa+ b+ C=0Fﬁa b+ b'c+ crg T

ST BIRTY | (2)

tanxdx
4w | — 1 BT | (2)

1+ a? —b? 2ab —2b
5v g iy e 2ab 1—a?+ b? 2a =(1+a*+b*)3>.  (3)
2b —2a 1—a? - b?

6v =d @Ig ¢ [ x tanx ™! x dx. (3)
7o e Z= 377 42K, ;= 47°-2"j +3k" 3R ?: 20+ + k" R A1 e R Z e AR S AR

- - o> >

aawbzﬁmaﬁi‘@c.dﬂ. (3)
ov afz ()Y + y* =1 @ 2 51 B 6)
9u %W%f:ﬁloge(sinx)dxz(g) log, G) (6)
100 3Tddhel THBRUT 2XY+Y? - ZXZZ—z =0 &7 & BIFY | (6)

www.rajteachers.com



